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Paper : II (Group:1) ( Academic Session 2017 - 2019 ) ('-r’/“r-") o:z¢
Marks : 12 Objective Sgﬁ:gﬁl 12 /‘
Time : 15 Minutes Code :.7461 @i 1512y
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
_fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. The acute bronchitis usually lasts about L Fets ¢ 4 U oz nk) 210

four weeks il (D) three weeks @of  (C) twoweeks 21, (B) oneweek = fl (A)

2  Which types of waste materials are“ s S Mo e iy Lus 22
excreled by rubber plants? )
; C&— . 'Y u,c;:-l
mucilage &= (D) resins vrs  (C) gums »#  (B) latex = (A)
3 The followings are all hormones except il U ;%.«;.r!.'iJ"i.f.-) -3

insulin ;,r‘-{rjl (D) thyroxin w"’b J@ (C) pepsinogen =% (B) glucagon uwﬁ (A)

4. Which hormone develops the male secondary sex characters? T =7 B 2 A
estrogen (/17 (D) progestrone s #¥i; (C) testosterone us,b:-:' (B) insulin L-/fﬂ'r (A)

5. The number of pair of ribs in human are _u_g:.._ﬁﬁﬁ.u% Sl 15
12 (D) 11 (C) 10 | (8) 9 (A)

6 The ripened overy is called -q..JLlr( Sl 2% .6
sperm s (D) fruit K (© egg okl (B) seed & A

7. To attract fiies and birds is the function of ¥ ¢/ J—‘f e sy o u:.f’t -7
stamen ¢~ (D) anther A4 (C) petal  J¥ (B) sepal 7 (A)

8. The punnett square is also called el LS, Les -8
checker board 3 /-& (B) score board 349l e (A)
mendel board b Jder (D) genetic board 3a5, P (C)

9. Darwin published his book on natural selection in S B NI S (4] Qo o wsath -9
., 1860 A.D (D) . 1859 AD (C) - 1858 A.D (B) » 1857 AD (A)

10. Utilization of nitrates by organisms is called ~etid e S AFE sy 210

ammonification (D) denitrification (C) nitrification (B) assimilation (A)

11. The micro-organism used for the production of formic acid is - f)"cf':.f.cl.ﬂhé..ﬂi_jl'}‘ #lé..b: A2 6 11
sacchromyces ;rftsf (D) aspergillus J’-‘-",(‘-J (C) E.Coli Jaﬂfd' (B) bacillus ;/9‘,5‘-' (A)
12.  Which one of the following drugs is obtained from plants? ‘-‘q.JLgJJ"bc.. g ch..u-'-d,:.,.-) <12

streptomycin s> (D)  morphine wAA  (C) insulin il (B) aspirin o ¥ (A)
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Time : 1 : 45 Hours

. What is meant by cellular respiration?

. Write two functions of nasal cavity.

iii. Differentiate between acute and chronic bronchitis.
iv. Differentiate between transpiration and gutation.

. Write the names of two parts of renal corpuscle.

vil,

Vili.
. What is rheumatoid arthritis ? Write its two symptoms.
1,
iv. Whatis meant by external fertilization? In which does it occur?

. What is meant by incomplete dominance. Also give its example.

i. What is the role of skeletal system?

v. Write two uses of fermentation.

. Whatis single cell protein? How is it produced?
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Note : Section 1 is compulsory. Attempt any Two questions from Section 1.

(Section -1 J3! )
Write short answers to any Five Parts : (5x2=10) _'e,':m.;sz/"’&,izlégc_.df
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Define refiex arc.
What is diabetes mellitus? Write its cause.
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What is meant by myopia?
Write short answers to any Five Parts : (5x2=10)
Define the term parthenogenesis and also give an example.

What is meant by caliuses?

What do you mean by traits? Give its two examples.

Differentiate between monohybrid and dihybrid cross.

‘Write short answers to any Five Parts: (5x2=10)

Define food chain and give an example.

What is meant by Biomass?
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What is meant by consumers? Write its two types.

What is meant by vaccine? Who produced it first time.

What is meant by hallucinogens?

Differentiate between antiseptics and disinfectants.
Section -1l , - ¢ )

(Each question carries Nine ( 5+ 4 =9 ) marks 1/ (5+ 4=9) J ZJirz)
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How is kidney stone formed? Write its symptoms.

Define reflex action. Explain it with the heip of
diagram and example.
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What is cartilage? Give detail of its three types.
Write a detailed note on binary fission?
Wrile a note on flow of energy in an ecosystem.

Explain salient achievements of genetic engineering.
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Marks : 12 Objective (59> 12 : A
Time : 15 Minutes Code : 7464 < 15 =0y
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Note:- You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more
circles will result in zero mark in that question.

1. 1. To which group aspirin belongs? I 'J’q.a'_...;,,/ u{}g KLt <1 A
Drugs from bacteria =il 05/ ea | 2& (B) drugs from animals =t e/ Fecunile (A)
drugs from minerals =inl /o=l (D) synthetic drugs &l gl (©)

2. The enzyme which is used to dissolve blood clots is e b LT S ALz f 22
amylase Z0U (D) urokinase #¥.y (C) lipase mdu  (B) ligase < Jdu  (A)

3. The enrichment of nitrates and phosphates in water is called ..q...rlif'/l:lg it ¥ J“:;"t 251 a‘:dE -3
nitrification u"t%,'w’t (D) decompositioneiissis s (C-)Eutrophication A5y (B) poliution (34T(A)

4. The units of inheritance are called _u_.-[;&fu;_m S=tis _a

chromatin o/ (D) genes s (C) proteins iy (B) chromosomes /) (A)

5. Watson and Crick proposed the model of DNA structure in VL Jit ¢ =3 DNA & i o -5

- 1954 AD (D) « 1853 AD (C) - 1952 AD (B) ¢+ 1951 AD (A)

6. The example of insect pollinated flower is —eJ SUALLE S8y wslni 2> 6
hazel J« (D) willow % (C) rose wf  (B) com & (A

7. In flower the whorl of carples is called _.;,mf LB ¥ AKSEA T
gynoecium ‘»f-""‘dh" (D) androecium (_i’u;?_] (C) corolla usS (B) calyx J@’ (A)

8. The hardest connective tissue in the body is ce & B e 7 8
ligament & (D) cartilage Z;"'j&’ (C) bone s (B) tendon wir (A)

9. The lobe which receive impulses from skin is fe et T i S 2l = e 29

temporal i (D) occipital J557T (C) parietal  Fis (B) frontal 7 (A)

10. Paralysis s a disease due to disorder in Wi S&6 10

nervous system s/ (D) liver # (C) endocrine system Sk (B) heart J: (A) |

11. During lithotripsy stone is removed by 2k ?_Jl.,dg AL # 11
surgery bz (8) X -rays 25 (A)
non- electrical shock waves J::Jl&ﬁ}giwt (D) electrical shock waves Jg:JL"&)Q/'?I (C)
12. A narrow opening present at the floor of pharynx is called - rlkff,l;y Ji:'r{u:) = u’f:’ 512
glottis ujuf (D) larynx u‘i‘ (C) nostrii ~ JXt (B) Trachea J,;..r/’ (A)
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Note : Section I is compulsory. Attempt any Two questions from Section 1.

(Section - | dg'l.g)‘

2. Write short answers to any Five Parts : (5x2=10) -z&:_-.uz,o"&nzléga_.df <2
i. What are lenticels? Write their function. -2_{{}@" Kl SupY” i
ii. Differentiate between breathing and respiration. -Z": Il L cf’t,(‘-.a 2l u‘; ~ii
ii. What is pneumonia ? Write its cause. 2 A o Se L il
iv. Define Gutiation. . -ﬁ-&’/’? JJ‘}( ~iv
v. Write the name of two main organs working for homeostasis. ..fir(t L AT < »L_lsé../’?f & v
vi. Define ganglion. 2w/ Sk vi
vii. What is meant by stimulus? el U U _vii
viii. Write the names of two hormones produced by ovaries. ...-’.é.‘T(t L Sl a0 Loty & L st il
3.  Write short answers to any Five Parts : (5x2=10) -zf:,_-.uz/?&.::zrégc_éf -3
i. Write down the roles of tendons and ligaments. S AW L UG e kL
ii. Define Joint. Write down names of its two types. _a.“}: Lo s G- w7 J iz i
iii. What is difference between epigeal germination and S O VUL S22 0 P2 S il
hypogeal germination?
iv. What are gonads? Write down the names of male and & Lol obat sl sl v
female gonads.
v. Write down two main objectives of National Aids Control Program. e o Al & ,fl):4 o s JY v
vi. What is meant by nucleosomes. Sel Ve v 2 i

vii. Write down two main sources of variations in sexually sy s Lt }’.:Jggdbi./ uﬁ';;/;.; dfrg‘ ~vii

reproducing populations.

viii. Differentiate between breeds and cultivars. ) - .Fﬂsdb:sl sk viii
4.  Write short answers to any Five Parts: (5x2=10) -’é:a&fﬁj‘?édzr&gr_.gjf -4
i. Define Ecosystem. Give an example. S S EwS L1 i
ii. Write down four symptoms of Dengue fever, “EES e S A i
iii. What is meant by utrophication? Sesly Yo u’-"g)g i
iv. Write down the name of basic steps in genetic engineering. e LS o £ £ G v
v. What is meant by Novel Protein or minifood? Sesl e 19 L igdst v
vi. What are sedatives? Write its two effects. -é&'}' » &S pind i
vii. Differentiate between drug and addictive drugs. ,éﬁ,"r, G St T B ot ()L v
viii. What is iodine tincture? Write its use. -2 egisey ot i
(Section -1l - ¢ @)
_ Each guestion carries Nine ( 5 +4 = 9 ) marks §+4 =9)7) LJir,
5. (a) Describe the structure of spinal cord. Uk =3 JM’J’} (a) =5
(b) Describe the function of human kidney. _..’-;Q-Jg‘ J" e d JLJ'i (b)
6. (a) Describe binary fission with examples. L Uit el gf'i‘d/':ﬂ (a)-6
(b) Explain in detail movable joints, ok 7 S Lni ST (b)
7. (a) Write five objectives of genetic engineering. Gy ég LZ 20 G (a) -7
(b) Write four adverse effects of acid rain. N P e & A 3 (b)
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